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. According to Abul Fazal how many sect. of Sufis

were there”

(1) 10 2 12

(3 14 (4) 6
. In which year Jhansi was annexed in British
Empire”

(1) 1850 {2) 1853

(3) 18506 i4) 1860

. Mahavir Swami died at which place?

{2} Pava
(4) Kushinara

(1) Kundgram
(¥ Lumbini
When “Third Estate’ in France did proclaim itself
“Mational Assembly’?
(1) 17 June, 1789

(3 4 Augusi, 1789

(2) 14 July, 1789
() 14 July, 1790

. Buddha was related to which clan?

(2) Malla
{4y Kumu

(1) Shakya
(3) Koliva

. Dandi March was staried on-

{1} 12 March, 1930 (2) 6 April, 1930

{3) 12 November, 1930 (4) 12 September, 1931
In Mansabdari system rule of 1/3 and 1/4 was
started by-

(1) Akbar
{3} Shahjahan

{2) Jahangir
(4) Aurangzeb

. Teacher of Kabir was?

{2y Ramanand
{4) Marsi

(1) Ramanuj
(3) Tulsidas

. When was ‘Declaration ofyindependence’

adopted in Americal, J—
(1) 1770 @ 171
(3) 1774 (4) 1776
According to Gaurl Shankar Ofha, Gupta rulers
were-

(1) Jai {2) Viashya

{3} Brahmin {4) Kshatriyva

Who was the Cezar in Russia during Bloody
Sunday?

(1) Alexander i1
{3) Napoleon

[

(2) Micholas Il
{4) Lenin
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(1) 10 (2) 12
(3) 14 (4) 16
2. gt @ fafre wmon # e\l B

pir: |1

(1) 1850 (2) 1853
(3) 1856 (4) 1880

lﬂmﬁ'ﬁ'mﬂlaﬁﬂﬁmmﬁﬂgﬁ?
(1) \EUTH {2) grEn
(3) afaf (4) T

4 i wRe 4 wiE 4 W W F g
el Oifus fsen?
(2) 14 T[@TE, 1789

(1) 17 97, 17889
(3) 4 aFTR, 1780 (4) 14 T[S, 1790

s.gzﬁiﬁﬁ‘!lﬁmﬁﬂﬁﬁ?

(1) Ty (2) Hew
(3) wreira () T
6. Trodi A A B A
(1) 12 Ard, 1930 (2) & wd&A, 1930
(3) 12 ORI, 1930 (4) 12 PR, 193
7. weERETd ween H 1,/3 o 1,/4 & W
i s foe?
(1) 3w (2) =R
(3) TEAET (4)
8. TR W 1o u?
(1) ST (2) T
(3) YeriETE {4) =l

9, aritfte # wRiEW B O B TA ST
fitr wTan?

(1) 1770 {2) 1772
{3 1774 (4) 1776
10, ré g it @& ArER T e A
(1) @me (2) 471
(3) FTEAT () &f3m
11 wft 2R @ wee & ' w6 0 9
ore
(1) arerdoe I (2) Frers 1
(3) AuiferT= () =ifE



12. The  head-quarter of United Nations
Organisation is situated at?

(1) New York (2) Paris
(3} London {4) Hague
13. From where did we find the evidence of Stadium
in Indus Valley Civilisation?
(1) Lothal (2} Harappa
(3) Rakhigarhi (4) Dholavira

14. Greek name Amitrochates was synonym of
which Maurya ruler?

(1} Chandragupt (2) Ashoka
(1) Bindusar {4) Suseem

15. Ibadat Khana was established in which year?
(1) 1572 (2) 1575
(3) 1579 (4) 1582

16. In which year Shivaji plundered Mughal city
Surai?
(1) 1657 (2) 1660
(3) 1664 (4) 1675

I7. Who discovered Lothal?
(1) D.R. Sahni (2) R.D. Banerji
(3) 5.R. Rao (4) 1.P. Joshi

18. Who said, “It (Cripps Mission) was a post dated
cheque on crashing bank™?
(1) Jawahar Lal Nehru
(2) Mohan Das Gandhi
(3) Pherozeshah Mehta
(4) Subhas Chandra Bose

19. Who was the first president 6F Congress?
(1) Womesh ChandraBonnetjce
(2) Surendranath Banerjee
(3) Badruddin Tyabji
(4) Pherozeshah Mehta

20. According to eensus 2011, which district had the
highest percentage of population of Jain religion,
in its total population?

(1 Jalore (2) Udaipur
(3) Barmer (4) Ajmer
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(3) =5+ (4) &7

13. Ry o) e § v wfim &y
4 fm &7

(1) i (2) g
(3) T (4) ST
M. = am sifEses B 9 ores
AT &7
(1) T (2) s

(3) fmgam (4) i

I5. garea wren @ v e o gl?

(1) 1572 [(2) 1575
(3) 1579 (4) 1582
16. Tt wTev e & el 3 few ol b g
(1) 1657 (2) 1660
(}) 1664 (4) 1675

17. Jrre &1 s e
(1) B am | (2) amed, a=5o
{3) THAE I (4) =i, wreh
18. fiFee frw fywer & fRafern o & s
STl T W o @ g A2
(1) TETER Hiel AT
(2) HiEs T i
(3) f<rorems dwa
4) a1 T e
19. Fe o gum s @t o
(1) & T Tl
(2) ¥ Frolt
(3) FEwlE daaan
(4) P Fe
20. TEATOET 2011 B HTEAR FeA AHET §, A
HH W@ SR W Wi watie i
i or?
(1) =iTete (2) FEaR
(3) e (4) arary



21.

21

23.

4.

5.

26.

e

According to the Theory of plate tectonics,
formation of the lsland Arcs and Island festoons
are resubt of -

(1) Oceanic — Continental plates convergence
(2) Continental - Confinental plates convergence
{3) Divergent plates Boundanes

(4} Oceanic — Oceanic plales cONVErgenie

The Antipodal Meridian of 75° East longitude of
Greenwich 15 -
(1) 105° East
(3) 75° West

{2y 105° West
(4y 155" West

The small and swift rivers, originating in the
Western Ghats and discharging their water into
the Arabian Sea, are an example of -

(1) Radial pattern Drainage
(2) Dendnitic Drainage

(3) Parallel Drainage

(4) Aniecedent Drainage

Variability of Rainfall in India is found lowest in

(1) The Western slopes of Western Ghats
(2} The Thar Desert of Rajasthan

{3) Central India

{4) The Eastern Coastal Plains

Which surface has the highest Albedo?

(1) Fresh fallen snow (2) Dense clouds

(3) Old snow {4) Soil (Dark
Coloured)

Match List - 1 with List - 11 and select the comrect
answer by using the code given bélow the Eist -

List —1 lﬂsj - l.l- .
MEE X '. -' i i )
(A)  Pyrites 0 Alwar
(Bl Bentonite () Sikar
{(C)  Lithium (i) Barmer, Bikaner
(D) Slate stone (v} Ajmer
Code:
(1) (ARG, (B, 2) (A, (B)-ii),
(C)-Civ) (D01 (CH(Iv (D))
(3 (A (B, (4) (A, (B)-(iii),
(C (). (D)-(v) (C-), (D)-(iv)
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(1) wETEnTI — WETETdE e & A

(2) T — wendr wE & afw

(3) v e AT

(4) FEETI ~ AEETE el @ A
T

Hmfea & 75° TH W= T ARER

goR § -

(1) 105° T (2) 105” af¥Em

(3) 75° afes (4) 155° Oi¥=Es

o) wd i wf, o ofted ae § Feeet

(Fer=1 gae) e W A o e 8
FETE # -

(1) e uftsy amans @
(2) FATRINE AT W

(3) FATTIR AETE 6
(4) i e W

. wree # o o uftatden Freeem wd Wl @

(1) ufterdt aE & el 2wl o
(2) TR W R e A
(3) ddra A |

(4 7 wEm farE A

i ToE w1 TS waifaw w8
(1) aran Frd aw (2) B ATEd
(3 T aw (4) fghh (e om0 @)

Tl -1 @ e - 0 et A @ e
faw o F@ @ IwEE WG gY W I W\
A -
L | e - 1l
wivw W o foren /o
(3 OIgIEe () e
(@) FvevEe (i) diew
(m)  ehfirm (i) =rER, dEEE
(8) wHE e (iv) 3T
E :
(1) (@)-ii), @)=, (20 (ar-(iin), (@)-Cii)
(v, (@) (&)-(iv), (@)D
(3) ()-(ii), @i, () {w)-in), (@)-ini),
()i, (=Hiv) (w)-(i), (Z)-(iv)



27. Which among the following is not correctly

8.

29,

matched?

(1} Van Allen Exosphere and
Radiation Belt - Magnetosphere

(2) Appleton Laver - F layer

(lonosphere)

(3 Kennelly D Layer
Heaviside Layer - (lonosphere)

(4) Roolof weather  Tropopause
Phenomenon -

Examine the following statements about interior

of the carth -

(A) Asthenosphere is partially molien.

{B) The thickness of the lithosphere is about 100
kilometres.

(C) The continental crust is made mainly of
Ciranile,

(D) The core of the earth is made mostly of
magnesium.

Choose the correct statements -

(1) (A AB) (Chand (D) (2} (A} (C) and (1)

(3) (AL (B, and (C) (4} (B (C)and ()

As per soil classification of Depariment of

agriculture, Rajasthan, which pair of the

following is not correctly matched?

Types of soil - District/Districis

(1) Sierozems = Sn Ganganagar

{2) Reverina - Sn Ganganagar and
Hanumangarh
(3) Red-Loam - Dungarpur and
Banswara
(4) Brown soils of Jalore, Pali and
recent origin - Nagaur

30. The main factors causing Ocean ciffents is/@fe —

3.

01)-}'

(A) Planctary winds_____
(B) Variation in sea water lempe
(C) Variation in sea Wil i
(D) Revolution of the ¢

Choose the correct
(1) (A). (B) (Chand (D) (2) (A), (B)and (C)
(3} (A) (B)and ([} {(4) Only (A) amd (B)

At which phase / phases of moon the Neap tide
oecurs?

(1) First and Third Quaner
{2} Crescent

(3) Gibbous

(4) New moon and Full moon
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HHE A

I
(a) =Egidt we gera: dege @ A )
(8) gl w1 wiE /W e Aefifem 9
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« Examine

The leading producer of *Lac’ m India s

(1) Chhattisgarh (23 West Bengal

i3y Maharashtra (4) Iharkhand

Which one of the following pairs is not correctly
matched?

Ship Building Industries - Location

{13 Hindusian Shipyvard Lid. - Visakhapainam
{2} Garden Reach Workshop - Kolkata

i3 Mazagon Dock Lid. - Marmagao

(4) Goa Shipyard Lud. - Vasco da Gama

. Which one of the following is not comect?

{1} Coriolis force is the result ol carth’ s rotation.

{2) Coriolis force is minimam at cogualor

(1) According 10 Ferrel's law, winds in Northem
Hemisphere deflect 1o the left of their path of

mcLoa,
(4) Wind speed is measured through Beaulort
geale.

The *Hot spot theory” of Turo Wilson s

associated with the origin of -

(1) Voleanoes (Intra plate)

(2) MNew folded Mountams

{3 Tropical cyclones

(4) Oceanic currents

the following stalements  aboul

physical features in Rajasthan -

(A) The low depression in between sand dunes
in the Thar desert are called as “marho’.

(B) ‘Badland Topography’ is found i Banas
Basm,

(C) Dora parvat in South Wesicrn pan of

Rajasthan is apark rfﬁm1 libbse .
(D) The *Gireat Boun ! ' muteﬁlnﬂg '
Western mqﬁi@r

hoosge
(1) (A) (B), (Chand (1)
(3) Only (A)and (C)

i\ 1
(2) (AN (B) and (C)
(4) (BY, (C)and (1)

. Which one of the fallowing pairs is not matched

carrectly?

Tributary - Main River
{1} Bandi - Berach

{3) Sagi - Luni

(2) Mashi - Banas
{4y Kural - Chambal
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I8,

39,

41.

42,

43,

44.

EH)-)'

“Pat” Lands are stuated ar -
(1) Meghalaya plateau

{2} Bundelkhand plateau
(3} Kamataka platean

(4) Chota nagpur plateau

To get a producer’s supply curve of a
commaodity, which of the following factor should
nist be held constant?

(1} Technology of production

(2} Wages ol the workers

(3) Price of the commodity

(4} Price of related products

- Which of the following is qualitative credit

control measure?

(1) Bank rate (2} Open market operations
(3) Minimum {4} Reserve ratio

lending rates
In India, data on wnemployment s made
available by
(1) NS5 {2) CS0O
i3} Planming (4 REI

Commission

NMNP at factor cost 1s -

(1) NP at market price + indirect taxes —
suthsidies

(2) NNP at market price - indirect taxes -
subsidies

(3) GNP - depreciation

(4) GNP + subsidies

From the following which is a

representing the cconomic welfare of people

counry’?

(1) Real
INCone

(3 Nanonal mcome

Which ol the following is not included in Net

National Product?

(1) Imterest

(3} Profit

People who are unwilling to work at the existing

WARE rale are -

(1) Voluntary Unemployed

(2} Frictiomal Unemploved

(3 Casual Unemployed

{4} Secasonal Unemploved

per capi

2y Reni
{(4) Depreciation

38, e Hn wafien # -
(1) HETEr WA o
(2) gueaTs SR 9
(3) FAEEH yaR ¥
(4 BT AR ga §

W. [ e & Iemew & qfd aw B me s
& o B 8 0 B ges @ Rer sl g
S i
(1) JEmE &) an
(2) @il a1 worgh
(3} @ A Hvm
(4) Hwatry awgan A @

0. T Frram @ s ughy & -

(N 9% () g gan #
fek

(3 AT U aY (4) Red arpan

41 e | A F aifee W agwe s
7
(1) NSSO)
(3) TS AT

(1) Cs0y
{4) RBI

42, WER, T 02 9 A g avae g d -
() g e o NNP + SO we —
e
{2) TR o TR NNP - awes o+
SEEH
(3) GNP — meagm
(GNP + aFaT
4 Fe | A s fEel 4w @ At @ s
T B FA AT uE g #7
(1) i anafas @) Yl am

S
(3) wEfa am (4) EE]
4. 1 0w s feg asfn g § iR
el [ e @@
(1) & (2} ST
(X) oM (4) =g

45, a1 wafea TGl o ov wW SR @l
MiTass g 2 FEend & —
(1) wafass e
(2) F=froms a9
() andfensd o
() W avrae
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4.

49,

=118

51.

LN

e

. Main element of cconomic liberalization is -

{11 10 adopt market-mechanism.

(2} remove unnecessary economic control
IMEASUTES,

(3 elobalization of ccommmy.

{43 Al the above

Economic reforms process in India started i the

year -

(1) 1995

(3 1952

(2 1494l

(4) 2001

Which of the following is not a characteristic of

indifference curve?!

{1} They are convex (o ongin.

(2) Slope downward to the right.

{3 They are parallel to cach other.

(#) Two indifference curves cannot cul cach
miher.

Which of the following has been used more
popularly for defiming poverty i India®

(1) Agricultural productivily

(2) Unemployment

(3 Inequality of income

{4) Calorie intake

AL the point of saturation, total utility of a
commodity 15 -
i1y Lero

(3 Maximum

(2) Minimum

(4) Negative

The time period of latest foreign trade policy of
India 15 -

(1) 2015 - 2020

{3) 2012-2017

() 2017 - 2022
(4) 2016 - 2021

- Downward mm-em.ﬁﬂ';ﬁﬂ — #m et

curve shows

{1} Expansion of demand
(2) Expansion of supply
i3} Increase in demand
(4) Decrease in demand

Who was the real architect of the “Second Five
Year Plan’ of India”

(1) P. C. Mahalanobis (2) Jawahar lal Nehru
(3 D. R Gadgil i4) B. 5. Minhas
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(1) 4 @l @ FeEET o 8

(2) & =l SR A W s g #)

(3) 9 TRER WA B

() B dergE 9% OF T @ EE T
e |

fretfafia § @ @ A 8 wHd o

w1 e ot s Y 8e

(1) ST @ Femada

(2) AT

{3) 3 A SR

() A TEA

.E'qmﬁ: fireg R el ey @1 e SR
(1) 3= (2) =T

(3 it (4) HCOEHE

A & adeem s e Al @
aamaf & -

(1) 2015 — 2020
(3) 2012 — 2017

(2} 2017 — 2022
(4) 2016 — 2021

52, T At 9% W AW W aim i i @

53.

(1) i w

(2) 9fei =1 femw

(3) s # gfg

(4) #im #

e A fedn i dveer @ A
fareuwsr @9 97

() 130, A (2) TR A9 e
(3) . ar, mefra (4 & = frem



. From the following which is not a function of 54, Fr=fafna 4 9 @im — o 5= 5 o ol

Central Bank? 8] #7
(1) Providing Banking Facilities to government (1) 9THR H A0 it gam e
(2} Providing Banking Facilities to Public (2) = T A ﬂﬁur&f gETH W
(3) Lending to government (3) HRET T TR =
(4) Lending to Commercial banks ) wftifers %7 ®1 aaw o
33, Measurement of Value of all goods and services 58, it a ARt & gw @ WO W
refers to which of the following functions of HEn m w ETITIIT W 27
money? (1) fafms @1 aem
(1) Medium of Exchange (2) & Y g
(2) Unit of account () faerfias WA &1 A

(3} Standard of Deferred Payment 4 1 T
(4) Store of Value = RIS

56, At the point of consumer equilibrium which of 56, ItmirET & W g o o= & w9

the following condition is satisfied? q_u’[ GG T4
) MR, =J% (4) MRSxy = R - =];_l': (4) MRSy, = By

57. From the following which state has maximum 57 Prefufag § @ fra oo @ fﬁ:ﬂw T:-"I?-l'E'ET fis
share in export of goods and services of India in ool W aqm & el g daed @ i 5
recent years? Haifirs &7
(1) Maharashira (2) Gujarat (1) sERrE (2) [ar
(3 Karnataka (4) Tamil Madu {3} HﬁTT’_'E H_. m

5. The 10" edition of *Delhi Dialogue’ in New 8. W, 2018 ¥ 7E feeeh % Rl srodtr &
Delhi in July, 2018, is related to India’s 108 e o Haw fre @ wr owee W)
engagement with - AN T & —
(1} SAARC (2) 5CO IEE: (2) v A1 an

39. Through which Constitutional A.ﬁﬁdmt.rﬂ*ihe S9. ¥ i — s gw W@ 8wy B
term — *Union Lahﬁiﬂuha;ﬁhmﬁphﬁ‘ AfeEe el 1 afvenfi R T &7
Constitution? (1) 24di o (2) 4287 HImaA

(1) 24" Amendment__I(2) 42 Amendaen! 3 aadi WU () sedt wEEe
(3 44" Amendment ;,[ ) 551;_&“_'&“5-_%@..- (.

60. Consider the following statements regarding 60, Wi — weies ufkm & Hae § e

constitutional Amendment Procedure - wul w1 faar wifae -

L. Such Amendment Bill can be introduced in I Ta GvieE - Reme 9ug & el oo

either House of Parliament, e | qRrenfia famn o e &)

IL In case of any disagreement between two 1L m:?ﬁ o armeafy o frefy &
Houses, the President may summon the Joini m Tl Tl W vy daw
sitting of both Houses. T EaT & Gl

I Lo iR N TP
et s 3) 1 o 11 B HE () T AT A E 1o

i 2l
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61. Identify the incorrect statement regarding the 61.

President of India -

(1) The tenure of the President’s office is 5
years.

(2) The President shall continue 1o hold office
until his successor enters upon his office.

(3) The President is cligible for re-election 1o
this office.

(4) The President addresses his resignation 1o
the Chiel Justice of India,

62. Who among the following is an advocate of 62.

Popular Sovereignty”
{1} Rousseau i{2) Hobbes
%) Bentham (4) Austin

63. The code name of the operation to eradicate  63.

Maxal Violence in Chhattisgarh is -

(1) Operation Cobra  (2) Operation Muki

(3) Operation Green  (4) Operation Vajra
Humt

64. With which neighbouring country, India’s 64

relations are getting tense, due to the role of
China in Hambantota Port?

(1) Bangladesh (2) Pakistan
(3 Maldives (4) Sri Lanka

A @ g & wew # FRE T Al

gEaifg -

(1) Tl g @ FEEE 5 W ¢

(2) 394 SRS & Ug WEW A,
Tl ST GEENOT e | '

(3) TRy TW UE W gAiArE @ O E

() TN SO WS ARG @
el w1 s W €

Frtifier 9 9 T Sl e = e
&

(1) wE (1) #ien

(3) dum (4) afif¥es

wdraTE # awa e @ I @ S
W WE A § -

(1) SifireE HrE (2) aifig= gk

(3) sfie= = g2 () e 9

gaeErel devn # 9W @ i @ Fee,
fore GERD A3 B Iy ARG B A T
B #7

(1) FETEN (2) T

(3) A4 (4) =it

65. What among the following is not in conformity 65, Fy=ifes # 9 T e & i

with the Modemn Perspective of Political
Theory?

{13} Power, as focus of study

(2) Value free Approach

(3) Development of Normative Political Theory
{4) Use of Empirical data

afttie @t srpea A TE B -

(1) nifter, orers & dn @ WO H

(2) T AT

(3) " et — e @ R
u}wm-mmm

6. Instead of the conéepiion of *Power 48 a mears__66. T & Wt o w4 H Wi H Howan @

of Domination’, who has descnibed the
conception of power as ‘Power based on
consent™?

(1) Thomas Hobbes (2) Max Weber

(3) Hannah Arendt {4) Vilfredo Pareto

67. Which feature of the constitution of India is not 67.

specifically mentioned in its Preamble?
(1) Socialist (2} Parliamentary
{3) Republic {4) Secular

o Page 10 of 24

o e it o e & 9o wEeEi
e AT o & vy o R 27

(1) =i gie (2) # T

(3) &= WE (4) faeEr Teh
Awa @ oam @ wreen e g
Sefire # fadme: Sfeafag =6 &7

(1) WA (2) HaEEm

(3) TR (4) dufAas



68. Among the following, identify the Parliamentary

69,

7.

T,

ﬂ1+

Committee, which is pot a Standing Committee?
(1) Business Advisory Commilies

(2) Committee on Ethics

(3) Priviledge Commitiee

(4) Commitiee on Women Empowerment

In the verdict of which case, the Supreme Court
has laid down that the harmony between
Fundamental Rights and Directive Principles of
State Policy is an essential feature of the basic
structure of the constitution?

(1) Golak Nath Case, 1967

(2} kesavananda Bharti Case, 1973

(3) Minerva Mills Case, 1980

(4) Maneka Gandhi Case, 1978

- Which one of the following Directive Principles

of State Policy has not been inserted through 42*

Constitutional Amendment?

(1) The state shall, in particular, strive to
minimise the inequalities in income.

(2) Childhood and Youth are protected against

: exploitation,

(3) Equal Justice and Free legal aid.

(4) Participation of workers in management of
Industries.

Politics of which Stdte i polarised on Vokkaliga

and Lingayat Castes?

(1) Tamil Nadu

(3) Kerala

(2) Karnataka
(4) Telangana
Under the Sexual Harassment of Women at

Workplace Act, 2013 every employer has to
constitute a committee to be known as -

(1) Sexual Harassment Prevention Committee
(2) Gender Sensitization Committee

{3) Internal Complaints Committee

(4) Sexual Grievance Committee

68, farrifer # 9, ww wadm aftf & oemfie
it e winfa wd &7
(1) &1 — sz wfaf
(2) s A
(3) Prdmferar winfy
(4) fEen wnfraw wif

69. fbw A @ dae § SmEw cammaa 9 T
wnitd for @ % 9o afewi v aem —
%ﬂ?ﬂt‘?ﬁﬁﬁﬁl’fﬁmwm[ﬂmﬂﬂj
wRum & Y@ 3 @ aravw FHepr #7
(1) " 91E, 1967
(2) ST W 918, 1973
() firmi fem are, 1980
(4) W T 9TE, 197s

0. 7o A A F Frenfan e o 4 9
B U 428 WiRwm - HeRE 2R
Fwenf 7 e &7
(1) o=, ffiream, amm & seeraarsi @)

&H T B TR
(2) ATErRT A e et @ e | e
I |
mmmwﬁ:gﬁﬁﬁmmumi
(4) FE & uae F welERl o weniie

T, e T I e v G
anfirt # gdtma &7
(1) affEg 2) FiEw
(3) F%a (4) T

7L wrbere W wfRwrslt W A Seiea
HiAfam, 2013 @ mid wers P &1 ow
e F e Bl &, formr sm & —

(1) oiffre aedres P aff
(2) wiew Aftrergers afafy
(3) wafs v affi
(4) #Afve frmrm afaf
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73, Consider the following statements regarding
Judicial Review in India -
1. In the constitution of India. there is no mention
of the term - “Judicial Review',
. After the Maneka Gandhi Case, Coun
serutinises whether the *Due process of Law” has
been followed or not?
L. Constitutional
reviewed by the Court.
IV, President’s Proclamation of Emergency
under article 356 of the Constitution also cannot
be reviewed by the Coun.
Identify the correct statements, using the
codes given below -
(1 L 00 and IV only
(33 11 and 1V only

Amcendments  can’t be

(2) 11 and 1T only
{4y 1 and I only

74. What among the following is pot related 10 the
Traditional Perspective of Political Theory?
(1) Historicism {2y Positivism
(3} Institutionalism (4) Contextualism

75. ‘Power + Legitimacy” is calbed -
(1) Authority {2) Persuation
(3 Influcnce i4) Manipulation

T6. Identify the group of States, on which “The
Pravisions of the Panchayas (Exiension 1o
Scheduled Arcas) Act, 1994 does not apply?
(1) Andhra Pradesh ~ Chhattisgarh ~ Gujarat
(2) Assam - Meghalaya - Tamil Nadu
(3 Jharkhand — Telangana — Ragasthan

(4) Maharashira g ha
Pradesh
77. “Society is the u 1 the
sum of formal '

individuals are bound together”, defined by -
i1 F. H. Giddings {2) Alex Inkles
(3 Maciver and Page  (4) Parsons

78, In which of the following concepts has M. N

Srinivas explained caste mobility as a process of

social and cultural change”
(1} Secularization {2} Sanskritization
(3) Weslernizaion (4) Muodernization

EH,-)-

T our § emfhe  REE @ W
=it T wv e $ifg -
L wwa @ wfars A s qeEREeE
st @ @ S T 8
(L. S T aTE @ are 9, ey OE wie
e # Fil e o R i @ s
gl # e
1. #femra — wvigal @ =IATea g 1
eRIgEE A8 R o e 2
W, wiffers @ arjeE ase @ sl Tl
A angrE  SEEmOT WM STEE g
i 81 Fra o e # |
ﬂﬁﬁqﬁﬁﬂmﬂﬂﬁﬂﬂﬂmﬁfﬂ
qEEAY —

(1) @ 111 uE 1V (2) @ 1 eE
Gy daa mud v (4) Taa 179 1)
74, Pyyifvg # @ @ weefy - faama @

gerErRT it @ safaa a8y

(1) ghrErag (2) W
L (3) HERIEE (4) devarg
75. ‘wifta + offtenpiar Fea & -

(1) e (2) S

(3) waTa (4) BEdEA

76, A W WgE w1 agdite, faw o CdEm
i arens (i o o ) s,
1996° @] T8 BN ¥ -

(1) amemetn — e - IRt

(2) 3T — ey — afeEny

(3) TETE — AT — AT

() SR~ s wan — W

LT W v Wy R wmes g sfimeaie
] o O e anr § fored A d@9
T wfi o s BT 9@ B 2
uftsnfirg e & -

(1) o, v, fifEm (2) Ueaw @
(3) HETEER UE OW (4) TR

78. e A 6 Fra armaeon & ooa, v difama
4 anfay wiferefreen o) Awnfas iR WiEpiem
uftard= a0 ufdem @ w0 # wrEmm &7
(1) el (2) HEFlEHT

(3 ufgsfig=m (4) amgfrEE
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9. AIDS (Acquired Immuno Deficiency Syndrome)
Day is celebrated on -
(1) May |
- (3 December 20

(2} December 1

(4} June |

80, Which ofthe following sociologist has explained
six dimensions of communalism?
(1} 5. C. Dube (2) M. N. Srinivas
(31 T. K. OQommen (4) R. K. Mukerjec

Bl Who is the Awthor of the book “Principles of

Sociology™-
(1) Durkheim {2) Parsons
{3y Meron (4) Herbert Spencer

82. Which of the following is not a purushartha?
(1) Dharma {2) Sanskar
(3) Artha (4) Moksha

#3. Which one of the following thinker is not refated
with linear theory of social change?
(1) Comie (2} Parclo
{3) Spencer {4) Hobhouse

84, “Caste is a closed class”, quoted by whom -
(1) Cooley (2} M. K. Dulta
(3) Majumdar and {4) 5. V. Kelkar
Madan
85, Maitch the following correctly —

Mame of Book Author

{i) Hindu Social (a) Irawali Karve
Chrrgamisation :

{i1) Marmage and family in (b) Westermarck
India

(111} History of Human () K.M;ﬁap&dia
Marriage

{iv) Kinship ﬂrgamﬁﬂ’ﬁﬂ_ {dﬁj’ﬁ hﬂﬁ

in liadia

(1 (i), (i) [..%. %% -;:,ﬁan
(2) (i-e), (i)-{b (a)

{3 (i-tb), (up(d),  (iki)-(c), thnJ
{(4) ()=(a), Gidc), (iii)=(d), (iv)-(b)

86, Which of the following does not represent a
sociological perspective?

An attempl-

(1) To study social (2} To reform social
order order

(3 To study social (4) To study social
relations change

01)}

79. vgd (venad gepE S fagm) fRaw
=y fes o o & —
(11 Az (2) 1 fBapae
(%) z0 fawmm 4) 1 9=

80, fpy 3 9 fsw warereel A WETEEg @
®: JTAT W e g

(1) i .o (2) uR, UH, Sifram
(3 A & g (4) &, &, Al
81. i s SRmEER gEe & aas
Cop i
(1) i (2) ar=
(3) 74 (4) Ewad Y
82, form # 9 @ w qeeemed o @7
(1) = (2} T
(3) e (4) #e

83 gl @ Fr uw faEws wvnioe afaes
# s fagra | wafag o 87

(1) ®f (2) teen
(3w (4) EfEras

8, “afty v oy ot B feman wue & -
(1) @ (2) TA. & ==

(3) FaHER U9 WEA (4) TE W e
85. Fpa &1 ot Fias & -

EIE B A A

(i) firs oo sicfmgerem (@) woad &3

{ii) ffa que & 39 (®) T
E

(iti) =t s e AR (RO) & W

wifEa

(iv) FEsifem aiifmgaes o9 (%) 9 yu W
gitam

(@), G-(A), - Gii-(a),  (w)-(3)

(2) (D), (-, GiHED, (i)

(3) (D), (Gi-(F),  Gi-(F).  (iv)-(3)

(4 (=30, (=), (-0, (Vi)

86. Frfarfa 4 9 #9 @ wued arerE
ufien &1 78 Foiar 27
(1) arnfore ergeen  (2) aEifas @

R AR | T HE
(%) wvfors w4 arntae gftads
G R G R
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87. “Sociology is the study of human interactions
and  interrelations, their conditions  and
consequences”, definition given by -

{1) Max Weber (2) Morris Ginsberg
(3) Cuber 4} A. W, Green

88. When a person occupies two or more roles with
incompatible role obligations, it is known as -
i1} Role Distance (2} Role conMict
i3) Role set {4} Deviation

89. Who coined the concept of “Culiure of Poverty™?
{1) Oscar Lewis (2) Gunnar Myrdal
(3) M. M. Srinivas (4) McKim Marriott

9. “Whenever, two or more individuals come
together and influence one another, they may be
said to constitute a social group”, definition
given by whom -
(1) T. B. Bottomore
(3) E. 5. Bogardus

(2) Maciver and Page
(4) Ogbumn and
Nimkoff
91. Which of the following is not a basis for
classification of family?
(1) Ancestry (2) Structure
(3) Religion (4) Residence
92. Who pioneered the idea of scientific study of
society?
(1) Plato
(3) Auguste Comte

(2) Adam Smith
(4) Herbert Spencer

93. Social relations in primary group refers to -

(1) Impersonal (2) Indirect relations
relations

(3) Contractual {4) Relationship is all
relations inclusive

94. Who defined that'."ﬁl'au%agc 15 an institution ﬁ:r
admitting men and woman to family life"-
(1) Westermarck (2) K. M. Kapadia
{3) P. H. Prabhu (4) Bogardus

95. Achieved status is determined by -
(1) Sex (2) Age
(3) Education (4) Caste

U1+

04, fam R st qew

B7. “gmramres wEara arefEmed arerbae
Sl SRt MR oftumEt @ ammmm B
i &1 & -

(1) 738 T (2) = it
(3) el ) 1. ey, W

¥8. wa wrd w1 m wfoe e e

wirs & SfieEl S e awm 8 W S9

W e -
(1) 3T o) (2) #faET e
(3) Y i (4 Fraer

89, P @ et @ amaren e § v
(1) sitery s (2) qur fisia
(3) un. v sifaae ) Hafen fitae

90, “FAa 0 q1 W g 9 iEE =i vw-my
frerd affe uw-gay u i@ seE # oA A
?Wmﬁﬁmaﬁﬁﬁ",ﬂﬁ‘ﬂmﬁmﬂlﬂ
(1) &1 & e (2) ¥erTEER UH 0w
(3§ T oamEn (4) aved e Fawns

91. =1 # 91 @1 uftar & e & smw
qEf B#7
(1) @mret (2) H¥aA
(3) aH (4 Fara
9. warE & denre s & fam & goiE
Wi a7
(1) =2 (2) vaw fam
(3) T e (4) B9 T
93. urafies weE # avnfe et st @ -
(1) adafders wraw - (2) SWeas [RE
(3) wifirar wwEe (4) |r 3 3y o
el i #
# mifafs Siem A
Wiyl e arelt ween &, s aftafte R
-

(1) Fezaars (2) & R, FwlE
(3) dt. va, wy () drmda
95. afster uftufay Frrifte 2l & -
(1) Feim (2) @y
(3) P () anfa
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#6. Permanent Executives are responsible for-

7.

(1) Formulation of Public Policies

(ii} Implementation of Public Policies

(#1) Making continuity of administration

(iv) Making appoiniments to top posis

(v) Deciding large administrative questions
Select the correct answer by using the code given
below-

Codes:

(1) (1) and (iv) (2) (1) and (i)

(3) (i), (i) and (v)  (4) (i), (iii) and (iv)

L.D. White subscribes to which view about
nature of Public Administration?

{1} Integral
(3) Narrow

(2) Managerial
{4y POSDCOREBE

98. Which one of these views is considered oldest?

ﬂ-1+

(1) Public Administration as an activity

{2) Public Administration as a discipline

(3) Public Administration as a policy science

{(4) Public Administration as an instrument of
government reforms

« Maitch List =1 with List = [I and select the comrect

answer from the codes given below-

List-I {Thinker) List-11 (deas)

(A) Gulick fﬁ ‘ YORE

(B) Simon (if) Hurman Need
Hivrarchy

(C) Tavlor {111} Decision making

(I Maslow (iv) Development of a
science of work

Codes:

() (AN-(ED, (B)-(ini), (C)=(iv), (D)=(ii)
(2 (A, (B)=(i), (C)-(i0), (D)-(iv)
(30 (A)-(iE), (B)- (i), (C)-iin), (D)=(iv)
() (A)-(iv), (B)-(ii), (C)-i), (D)-(iii)

96. R HRIES Feea B f-

97.

(i) @ Nfoi & famfor & ferg

(i) & et o fForars & faw

(i) W # e @ e & e
(iv) == vE W Pgfdat & fog

(v) Frege werrafrs weat & fla & fam
A iy g W @ weraw @ owH Se w
WA T

L

(1) (i) 3% (iv)

(3 (i), (i) 3 (v)

(2) (ii) 3 (1ii)
() (i), (i) 3 (iv)

GG R B T M
i gftemior @1 wwels v #7

(1) Tt (2} SR

(3) wWEfEam (4 dRswE ((POSDCORB)

98. g 9§ wE-W W fAuR wen Qe me
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(1) &t w9rEA UF i & s f

(2) S UITE U aEnE fawn o own 6

(3) A% warEa v AR e @ w6

(4) @I GAHE AVER H AR AW o e
TUFHEY H T

99. -1 T E-1 o e e e sl A

faw o wp o wemw @ ol oW W o
-

i () 11 (Rramom)

() e (i) drEwid

(7)) FEA (ii) #FTE AT Y
(@) Tae i) Frin—Fsio

(7) (iv) e @ faesr
a:,.l;.-.

1) (3=, (-, (F)-(iv), (Fh-id)
(2) (3=, (A=) , (F)-ii), (F)Civ)
(3} (-(ii), (T (1), (DD, (B
() (30=(iv), (@)=Cii), (F-(0), (Z)(iii)



104,

101.

[ X8

According to Lokpal and Lokayukia Bill 2011
the selection committee for appointment of
chairperson and members include-

(i} Prime Minister

(i1} Chairman of Rajya Sabha

{iii) Speaker of Lok Sabha

{iv} Leader of opposition in Lok Sabha

Select the correct answer by using the code given
below-

Code:

(1) (i) and (i)

(3} (i), (i) and (iv)

{2y (i), (i) and (iv)
{4) (i), (i) and {iv}

An inner urge that moves a person o act is
called-

{1} Motivation (2) Morale

i1) Enthusiasm (4) Interest

Woodrow Wilson is known as the father of the

discipline of Public Administration, because-

(1) he wrote first text book in  Public
Administration.

i2) he developed
Administration.

(31 he considered Public Administration as an
important activity.

{4) he emphasized need for a separate study of
Public Administration.

principles of Public

Human Relation Theory lays emphasis on-

(i} People (i} Structure

(iii) Principles of {iv} Informal groups
organization

Select the correélanswer by using the code given:

below-

Code:

(1% Cin) and {iii)
(3 (iii) and (iv)

(2) (i)and (iv)
(4) (i), (iii) and (iv)

104. Which of the following recommended the

EH’-}

appointment of Lokpal and Lokayukta in India?
{1} First Administrative Reforms Comiriission
(2) Second Administrative Reforms Commission
(3) Santhanam Commiltee

(4) Sarkana Commission

o :
il s e v el e e =

102.

103.

dreare T dergE s 2011, @ HTEN

e v e 0 Prgfe g o i |

wiemfera #-

(i) M

(ii) T A @ i

(iii) FTETT FEIE

(iv) Frerer 8 fioe o1

#ra fag v FE @ IEEE H I i AT

W TE -

E:

(1) (i) 3 (iin) (2) (i), (iii) 39 (iv)

(3) (i), Giii) R G@v) (@) (), i) 3 (iv)

UF W e o e 1w W

Uit w8 99 FEa #-

(1) sfiiem (2) A

(3) IEHTE (4) wfH

gt faewm w o yoeR fm & ohE

w0 H S e &, it

(1) 99 S W W OEell WIem s
fard |

(2) 384 ws wmea @ fegral @ R
)

(3) 39 i WIS U AEeg B
T |

(@) S8 Fe wmeE @ JuE aend ol
ST UR W 2

weg T faer oiR g2 8-

(i) = o (1) HYEA

(i) wmen & fagrat (i) aEfgERE
ricd WHE W

# e Mg o A # ) 9O T 9w
e

(1) (i) 3= (iii)
(3) (iii) 3 (iv)

(2) (i) 3R (iv)
(4) (i), (iii) #M (iv)

104. Pr=tfafae 8§ & fres wRe 8§ oieas
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w1 Frgfe @ ReRe # d40
(1) wers wEERTES U A

(2) fadim womafre gaw s

(3) T Ea

(4) T T



105,

11,

107.

109,

D‘|+

Besides Simon which thinker is known' for
giving a meaningful analysis of decision making
process?

(1) Fayol
(3) Taylor

(2} Barnard
(4) Folleit

Public Administration was born primarily to-
(1} promote human welfare,

(2) regulate group action and behaviour.

(3 work for the development of society.

(4) bring socio-economic change in the society.

Right to Information Act was enacted by the
Indian Parliament in the year?

(1) 2003 (2) 2004
(3) 2005 {4) 2006

Which of the following are Motivators according
to Herzberg?

(1) Salary

(1) Recognition

(i11) Responsibility

(iv) Working condition

(v} Achievement

Select the correct answer by using the code

given below-
Codes:

(1) (i), (iii) and (iv) @002} (i), (iv) and(v)
(3) (i), (iv) and (v) ) (19), i) and ()

Which letter in the acronym POSDCORB refers
to the word which means issuing orders and
instructions?
(e
3 D

2) O
4) B

Ws. v & affem o @ fams &
fFia—Fror ufhn & oo syl fawemo @
fere W men &7
(1) HarE (2) Tt
(3) der (4) FrelE

106. FARE TUTEA W HH OB o1, EuCa—

(1) g weam @ T i)

(2) wrgfees fim vd s & P e

(3) Tra @ fawrm & e g

(4) wara A wmfaE-anfEes ol @
|

W07, areeiva w9 g1 e @ AiEr s

e ad 5 afefiEm fEm Tm?

(1) 2003 (2) 2004

{3) 2005 {4) 2006
108, g5feri & aar Pewifsa # @ @m @
o &7
(i) e
(1i) TEEH /W
(iii) SeRETiiR
(iv) Fd T
(v) Suafi
#% By W o i wewa ¥ 9 e w
A
L=
() (), i) 3% Gv)  (2) (i), Giv) 31 (v)
(3) (i), (iv) 3 (v) (4D (i), (i) 3R (v)
uftadfi e dreEwi (POSDCORB) # @14
W MR IH meE W e wven & e
e} amdw vd P orh s #7
(1 9 (M (2) 31 (0)
(3) F (D) (4) 91 (B)

109,
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111

112,

113,

114.

115

i

Classical theory of organization 15 mainly
concerned with-

(1) formal organizational structure

(1) process of administration

(i) concept of cconomic man

(iv) principles of organization

iv) role of informal groups in an organization
Select the correct answer by using the code
given below-

Code:

(1) (1), (i) and (iv) (2) (idi), (iv) and (v)
only only

(3) (o, (nind oand v) (4 () Cinh (i) and (iv)
only only

Which of the following concepts are associated

with Taylor's Scientific Management?

(1) Rule of Thumb and Mental Revolution

(2} Informal organisation and Unity of
Command

(3) Time and Motion Studies and Menal
Revolution

(1) Differenmial Wage System and Unity of
Command

Which of the following is not the characteristic

ofideal type Burcaucraey as propounded by Max

Weber?

(1} Career Svsicm (2) Service asa

contract
() Merit based entry  (4) Committed
1o Services bureaucrals

A District Collector is basically-
(1) A Generalist (2} A Specialisi
Officer Orificer

(3 A Politician (4, ﬁvﬁuw
[escaries holds lhnmhﬁ wo Mmﬁf‘ ::hnyng

real knowledge e .
(1} Deduction ﬂ.ﬁd" {2y Intwition and

Testimony Deduction
(3} Intuition and (4) Deduction and
Experience Experience

The Fourth Moble Truth in Buddhism states-
(1) The existence of suffering

{2} The cause of suffering

{3} The method of extinction of suifering
(4} The cessation of suffering

0. wea & wiea g @& q@ &0 9
e -
(i) diraa WsaeE WYl
(i) w¥rEA @ whEm
(iii) M1files AFTa @ AEEEe

(iv) W1ed @ fagra

(v) A A arrErE weel a6 i

e fag g o2 4 9 Wl 9w o 9y -

e

(1) EA (i), (iii) 3 (2) BAS (i), (iv) 3R
(iv) (v)

(3) FaA (i), (i) 30 () Fw= (1), (). G
iv) 3T (iv)

111 fy=fafas § 4 ®R-W seamond 2ew &

denfoe g B weafam #7

(1) 32 @ frm s wEfe i

(2) aFtaEie W 3T ST W A
(3) Ty v A awgE e welee wi
() szl 2 ereh) afte andw ot e

N2 #aw aav gr afomfEa snesl ure A
B e d @ wE-d R Tt @7

(1) wRu= e (2) T gaa &
HR T

(3) freeen amenfra (4) wfEE Sieme

T # wE
13, g faemirm gaa: s é-

(1) UF AR () v faems
fireRTd R

(3) U T (4) UF TAETN

114, 25 & 59 4 vonel s @ Wity & 21 =im
&

(O Fosa vd o/ (2) [EaEn U
HH] =

(3) wEwE od (4) Frm= ud s
HHE

1S, dg 7a # aqed A v o e § R
(1) g9 i
(2) 59 & TR P
(3) g P Al
4 5= FEm 2
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116 Atman, in awakened state in Upanishads is 116 gufimai & simre SR W AT Wi R T

know as- i
(1} Vaishwanara {2) Tejas (1) aw (2) g9
{3 Prajna (4) Turiya (3) o= (4) i
7. Select the correct pair- 7. w1 g 1 a9 difsm—
(1)} Bentham - only qualitative difference (1) #erm — i & 7o g @
among pleasures (2) it — gt % R e & e i
(2) Mill - pleasures differ quantitatively and not a6t &)
RS . (3) g # et A W
(3) Bentham- ol vantitative  difference s e
mong [:nln:'.l:a.'u.n::?'I ® ) ﬂﬁ;‘;’ ;-Iw A oo o 8, =
{4) Mill — pleasures differ qualitatively and not
quantitatively
8. The “Panch-Mahaavral' according to Jainism 118, 5 =sb 4 ‘um s #-
i (1) e, g, . amfre, were
(1) Satva,  Ahimsa,  Jnan,  Aparigraha, () e, e, arerm, amfe, e
Hmhnmcharyn‘ _ (3) T, PR, e, siaftTe, wered
(2) gfhﬁ;m;glmm‘ Asteya,  Aparigraha, (4) T, s, s i, e

(3) Satya, Viveka, Asteva, Aparigraha,
Brahmacharva

(4) Satya,  Ahimsa,  Asieya, Aparigraha,

Brahmacharya
9. According to Gandhi which of the following is 119, #ift & SR B 3 9 S ol o 8v
nol correct? (1) Te8 ol 61 wouer & |
(1) Truth is perception of facts. (2) Wen dvaw @ A &
(2} Truth is identical to god, (3) aftan fwr &1 apim A &)
{3} Non-violence is mere absence of violence. H} a4 i e wen Al &
{(4) Mon-violence includes love and truth,
120. The abjective of Varmasham dharma is- A20. guism epi & Skrg &
(1) 10 lead one towards moksha, i\a;n diay & R FE w0
(2) holistic  development  of *:ntd::ﬁ ﬂﬁi jz] T e @i & i B w5
individual. (3) e ReTom @ @ v
(3) to maintain social divisions. (4} R e A s

(4) 10 ensure material prosperity.
121. Origin of cosmos in Vedic Philosophy has been 121, 3w =9 4 gt awfy amem fwer 4 ol

discussed in- A B

{1} Masdiva sukta (2) Purusha sukta (1) sy X (2) 9% I

(3) Hiranyagarbha (4) All of the above (3) fmrnd (4) TwrERr wft |
sukia
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122. According to Socrates, knowledge is-
(1) not a virlue
(2) not necessary for virtue
{3} sometlimes necessary for virtue
(@) necessary and sufficient condition for virtue

123. For which of the following, moral agent is not
responsible-

(1) Voluntary actions  (2) Involuntary actions
(3) Habital actions () Self-willed actions
Which theory of punishment considers crime as
a social and psychological Problem?

(1} Deterrent {2) Retributive

{3) Dharma Shastra {4) Reformative

124.

125. Param Purshartha is-
{17 Dharma (2y Artha
(3) Kama (4) Moksha

126. The *Sthita prajna’ according to Gita is onc who!?
{1} has renounced the world
(2} performs ntuals
(3) is steadfast in success and failure
(4) desires enjoyment and power

127. Which of the following deities is said 1o be the
protector of *Ria™

(1) Indra
(31 Varun

(2) Agni
{4) Vishwakarma

128. Match List-1 with List-1l and seleet the eorrect
answer by using the code given below the lists-

List-1 ist-1110

(A} Gross I (ik Mill
Litilitarianisi.

(B) Refined (i) _Kant
Utilitarianism :

(C) Cardinal virtues (iil) Bentham

(D) Categorical (iv) Plato
imperative

Codes:-

(1) (AM(i), (B)-iii), (2) (A)-(iii), (B
(CHi), (D)-(iv) (Cy-(iv), (D=(0)

(3 (ARG, (BR-(iv),
(C)-(i). (D)-(iii)

o1

(4) (A)(v) (B)-(1i),
(C)-(iii), (DY-(1)

122, g @ R, S

123.

124.

125.

126.

(1) e A i

(2) wEw g WETaE T T

(3) FEW ¥ TE-HET HAEAE ER 8|
(4) HEW W TAEEF S A W
Afgw ot e @ R g 98 #-
(1) wftss ¥ (2) arifms &9
(3) WEE W B (4) W-deiea FH

oz 1 B R AR 6 wrnfas 7d
weirrEnfE anen & wa A wWimn a8

(1) Fraeiard (2) ufirerard
(3) enfeme (4) i)
prCi f T R

(1) =¥ () el

(3) w1 (4) w=

e & aguR femms a8 & @i

(1) o0 # T A e 2

(2) enfifes ageal @1 warEs e |

(3) T 3R s A W v

© (4) i afre w6 g W 8

127.

Fep=ifaitoa o @ fra gar & a1 6
el T B7
(1) 5%
(3) T

(2) wif#
(4) fmawsi

128. =0 1t g 1 P g sie A= Ry
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e Fr w1 g e w9 g

| L I

(A) T (iv s
£ 1 G G

(B) HHEHA (i) @
S UGG

(C) Hem W (i) drerm

(D) Freder amdmr  (iv) @ET

m;e—

(1) (A(i) (B)-(i),
(C)(ai), (D-(iv)

(3) (ARG, (B,
(CHi). (D)=(iii)

(2) (A)=Ciiid, (B
(C)-(av), (D)1}

() (A(Iv), (B)-(iE),
(C)-(iii), (D))



129. According to Kant, only that action is duty,
which is based on the principle of-

(1) Sympathy (2) Duty for duty’s
gake
(3 Common good (4) Consideration of
consequences
130. Plato accepis-
(1) Knowledge is (2} Hedonism

virtue
(3) Cardinal virtues  (4) Golden means
131. Teaching Aid should be used in class -
(1) Asan aid (2} As an objective

(3) For entertainment  (4) For deviating
attention

132. Project Method is important in teaching, because
it i5-
(1) Pleasurable for students
(2} Students have to work
(3) Teacher is free
(4) Learning by doing is long lasting

133, Excursion in Social Studies teaching is most
important for -
(1) Entertainment
(3) Away from

classroom

(2) Direct learning
(4} Group adjusiment

134. To provide an overview of a large unit or large
topic of Social Studies, which of the following
method will be most appropriate?

(1) Project Method ~ (2) Problem Solving

(3) Peer Tutoring {4) Lecture Method
135. According to NCF-2008, such know ledge should

be given to students through Social Studies

teaching. by which -

(1) foundation for social peace can be build,

(2) be interested in traditional vocations.

(3) new generation should follow present

leadership,
(4) social problems can be solved.

o1 ¥

129. Fre & I Faw a8 o eaw 2 e

ST fHT—
(1) FETIfT & (2) wde gwte & fao
(3) T fEm @ mWwW
|
130. wieT o1 wWrE 8-
(Hws Hager e (2) gaEaw
(3) gEa " (4) =t e Anf
3. wan A weww amdi @ uner fem o
ity -
(AR & w0 (2) g & w9 4
(3) 7erTE & fam mﬁ Yo W
132. Fweror & oo R el & wbife -
(1) @ faenfelai & fow srdaamos &)
(2) it = wed e o 2
(3) P wre= g &)
() T e el g &)
133. wmferes e fmg & odes e sfie 9
waife wEegef & —
(1) 7R (2) USRI ST
(3) FEf-we A gh  (4) wefe wmaeE

1M4. gmifes s & R a2 difts @
RiETrciie &g Fr=ifea & @ o fem

ffey waiftes g anfi?
(1) uftzren @R 2y same
(3) \EarST fiem (4) @ Al

135, w9 M gw—2005 & wrE  fasr

forrn & g Rrenfii w v s R @

arfen, foaa —

(1) ¥ | i w1 amre a9 |

(2) TNERT T g B a9

(3 7 G sufem dgm w0 a9
|

(4) WIS Tl W WHETE B A
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136,

137.

138,

139,

14ih.

141.

Which of the following is not a phase of

Reflective Thinking. as suggested by John

Dewey?

(1) Hypothesis (2) Testing of
Hypothesis

i3y Intellectualization {4} Initiation

Which of the following step is common in

Herbertian Approach and Morrison’s Approach?

(1) Preparation {2y Exploration

{3) Presentation (4) Generalization

It is most important for the teacher of Social
Studies to have -

(1) Pleasant Personality

(2) Love for excursion

{3) Knowledge of current events

{4} Love towards aesthetics

Following activitics may be included in
constructivist approach of teaching -

(1) Drama (2) Individual
assignments

i3) Group work (4) All options are
comect

Social Studies teacher can use computer for -

(1) Teaching

{2) Educational Guidance and Counselling
(3) Examination
i4) Above all

Social Studies subject is related to -
(1) Individual (2) Society
(3} Administration (4) Philosophies

142. The method to teach Social Studics should be=

143,

o1 "

(1) Subject centered | (2) Teacher centered;

(3) Student cemered  (4) Teaching ~ wd

centered

Which of the following is not true about teaching

aids?

(1) Poster is an example of projected aids.

(2} Maotion picture is an example of visual aids.

(3) Graph and Charts are examples of visual
aids.

{4) Printed maps are examples of Non-projected
ancls,

136, 5 4@ © gro Bh T wEds b @
arermait 3 feiten 8 @ @ wnfga
&

(1) giEaErE
(3) g

137, Fp=ifirg 3 & @19 W1 W90 B 9UrTH OE
Aifre Furm § A @7

(1) Fard (2) sy
(3) weefireETor (4) arrEiET
138, wrfes e & fhew @ o acofd
HEeagl & f a8 —
(1) w1 =i o Bl
(2) 2o | Un W
(3) T el B WA
(4) #==d Wi B
139, Ryl (Constructivist) e Surm #
frey mifafafy wiftafem & wadl & -
(1) fg (2) Fufims =
(3) anffEs (4) i frea wl §

(2) uiwETT T
(4) T

140, wrnferE aere @ e e B w
R Hwd &~

(1) T #
(2) #firs frdee od oRm
(3) odien wTd A
(4) Sudrea i Ao
141, wEfe s g Tt g -
(1) =il 4 (2) TorE |
(3) gorEA A (4) =e= A
142, mprfers aeans 4 e AR 8 iR -
(1) fimm ®ieaa (2) Fieas wem=
(3) foremeff werrs (4) wErms—ard
e
143, fr=rifiee # ¥ #F—w S R TS
et & wed # | T 87

(1) dreee, wEd wrd #)

(2) water, gz Al )

(3) uTE vE =, g amdr §

(4) fide st s wrrdt & S €|
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144. The Prime objective of the Social Studies

145.

146,

147,

149,

o

teaching should be -

(1 To give the knowledge of Geography.

(2} To recall the History,

(3 To give the knowledge of political
conditions,

(4) To develop social virues.

Teaching of any subject needs to correlate with

ather sihjects, because -

(1) Knowledge is whole,

{2) Mind is indivisible.

{(3) Learning becomes long lasting,

(4) All options are correct.

Which of the following should be used to
increase appropriate behaviour?

(1} lgnorance (1) Sirictness

(3} Punishmient (41 Praise

Which of the following statcment is most
appropriate aboul Social Recitation Method?
(1) Saves time,

(2) Complete course can be taught.

(3) Swudents get a definiie direction.

(4) Develops socially useful characteristics.

« Which of the following is not true abou Social

Recitation method?

(1) v teaches pupil to think clearly.

(2) It provides pupil, opporunity 10 Self —
Expression.

(3} It provides training in leadership.

{4) There s no nsk of futile I.‘iﬁﬂtll'lﬁ_i_l_llﬂ.

The aim of Social ﬂ[ﬁﬁﬂﬂn@ﬁﬂﬁuww

(1) Maximum facts gy he given 1o sudents
(2) Develop imaginationof students

(3} Develop critical understanding of siudents
(4} Attach them with their, religion and caste

Which of the following is not a step of

m.maﬁmﬁmwrﬂnﬂwahﬂm
(1) & W ST & |
(2) sitrera BRw Fear |
(3) vt Refei & s 3
(4) W Uil @ RETe e |

145, firelt o fawa & s Aol | e
TR U WA € Wi —
(1) s+ argue &
(2) witoren st &)
(3) aferTa #§ wenfice amm &)
(4) =i faavea wf )
146. afEm ormem & femm & B s 8§ 9 @

wan farm s afie?
(1) = (2) Tt
(3) == (4) were
147. sfenfas faf (Social Recitation

Method) & Haa % fr=ifla 4 @ ofts o
e A augen 82

(1) w5y qaT i)

(2) 0 GTEUEH I o W £

(3) Rensff wr Fifdma 2w feed &)

() ATl [@vmemst W A g @
IS arara (Social Recitation) ffy &
Fﬁﬁfﬁiﬁﬁﬁﬂﬂﬂ?wﬁﬂﬂﬁﬂﬂﬁ
(1) 7E Renfiiar & s e 3 warow &)

(2) TE Al @ srenferfe o s
et e &

(3) T5 Aiga wite gee W &

@) 77 = wel o wea @ den
’f#iﬂ%mmmmwmm Wty
(1) RenEat w5 sftmom s B4 o

(2) Fenid & sarn ofta fAefig & @@
(3) faenfifat & srcirerom s Rsfaa
(4) Fremeff sy ed afe o 4 o

150. fy=iifthe 9 ®F—w 8w@e FurTe @ Uh

148,

*Herbertian Approach’™ TRy A &2
(1) Preparation (2} Presentation (1) farh i2) p-@-fﬁm
(3) Generalization {(4) No option is cormect (3) HTErfrEe (%) w1¢ Frsg wd
e g
--------------- G 8 8 e 0 0. & & (SN, . 5 5 ¢
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